MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAML FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/bulding

Greenheck Fan Corporation

P.O. Box 410

Schofield, WI 54476

ScoPE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed by Miami-Dade County Product
Control Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County
and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model ESD-635D Aluminum Louver with and without VCD-40 Damper

APPROVAL DOCUMENT: Drawing No.ESD-635D, titled “ESD-635D Louver”, sheets 1 through 22 of
22, dated 08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E., bearing the
Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and revision date
by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Schofield, W1
and following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 07-1015.06 and consists of this page 1 and evidence pages E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No 10-0921.09
Expiration Date: December 6, 2012
Approval Date: December 16,2010

/1 27///0 Page 1




Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. ESD-635D, titled “ESD-635D Louver”, sheets 1 through 22 of 22, dated
08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E.

B. TESTS “Submitted under NOA # 07-1015.06"
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Series/Model ESD-635D,
fixed aluminum louvers, prepared by Architectural Testing, Inc., Test Report No.
74297.01-602-18, dated 09/25/07, signed and sealed by Joseph A. Reed, P.E.
2. Test report on Standard Test Methods for Tensile Testing of Metallic Materials, per
ASTM E8-03, prepared by Architectural Testing, Inc., Test Report No.74297.02-602-
18, dated 10/01/07, signed and sealed by Joseph A. Reed, P.E.

C. CALCULATIONS
1. Structural calculations, prepared by Rice Engineering, dated 09/03/10, signed and

sealed by L. David Rice, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of conformance issued by Rice Engineering, dated 09/03/10, signed
and sealed by L. David Rice, P.E.
2. Statement letter of no financial interest issued by Rice Engineering, dated 09/03/10,
signed and sealed by L. David Rice, P.E.
3. Statement letter of conformance issued by Architectural Testing, Inc., dated 10/05/07,
signed and sealed by Joseph A. Reed, P.E. “Submitted under NOA # 07-1015.06"

% /22/0

Carlos M.'Utréra, P.E.

Product Control Examiner

NOA No 10-0921.09

Expiration Date: December 6, 2012
Approval Date: December 16, 2010



(11 (12 (15N e
/2 /2 K373 CROSS SECTION
a o == L —
Z 3 4 | |y | || | . . |
o T T T
gs g [ ] I K = L
{ = — | S | — em— ugett
o o
] 1} T4 T T T
i1 11 H
11 | 1 |
| | || | |
|| || | |
| | | | | |
L - -
— = H
H H H
| ! |- | -
,_I_ I I [l i
= ] 1 1
T O I ] ]
- y = 11 [ | [ 1
5 i g || | | L
m 3 3 | | L
o 5 - | - -
= w X - - -
L a 2 [ 1 I
o %) 5 1 T T
N 3 = H H H
g ° % i H .
> x =
3 £ B B i
| o
w S [ 1 T
n oY || || ||
-3
I - L | | L
" | | || |
. - -
H H =
t H t
m ™ N
1 bl I
|| |1 |1
|| | | | |
Lg vg ] ] ]
a (e}
=2 O —et<—0.156 0.156 —ef=—
S S 72.000 MAX. ACTUAL 72.000 MAX. ACTUAL 72.000 MAX. ACTUAL
f—— D
8o 0125 TYP LOUVER WIDTH = LOUVER WIDTH == LOUVER WIDTH
e . '
ST o 0375 —ET OUTSIDE OF SLEEVE WIDTH et
< UNLIMITED LOUVER OPENING WIDTH =

2
5/22

u—TJ

VERTICAL \8/22/
CROSS SECTION

PRODUCT REVISED

e complyiag with the Florids

m\ ilding Code

0.125 TYP,
TO 0.375

8/25/2010

DATE

OF 27

MES
1:24
1
€AD DRAWING NO.

SHEET NO.

ESD—0635D

DRAWN BY
SCALE

P.O.BOX 410 SCHOFIELD,

WISCONSIN 54476-0410

GIRIEENFIECIK
FSD—635D LOUVER
ELEVATION

FLANGE FRAME
SLEEVE MOUNT

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www . rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923

HIT)
! !y
\\\\ £3

\\\\ 0%;1""“-- %

e

\/":@ = Ml




NOILVAZ1 ) g
Q@M@ |Qm1|n_ N mm N o it :‘:M%.FS\\
M BT N® B ) o owwus.mw.ws,sw\\\\
‘ON_ONIAVIT d¥I K W S m e m.m *mww \\“
-2 10 7 INNOW F19ONV SNONNILNOD Hicegs 22 g 3 u 7B
02229 o a|l = 0% 4=
43IANOT dS£9—AS3 ST o8R8 <5 7| i NaEE
'ON_L33HS UL 1y Z o8y 2 25,2 £ = ES
YL 01¥0-9/¥¥S NISNOJSIM ® K285y, W Eoxs| Zowr RIS
ERTAN ‘013140HOS 01¥ XOd'D'd 838835 £380%5 % yh. \OR@S
010¢/5¢/8]  San > SERE T, RO
&
e
[am

(e
&/22)
8
/%
(10
&/2/

1

-

VERTICAL
CROSS_SECTION

il

1 :2__ J
z
A

Z]

(5 7
_ _ Nz
(]
|
7/622
[ gy

i

L[]

|

il

i

72.000 MAX. ACTUAL
LOUVER WIDTH

— JNEY N RN U SN N [ A U (N SN NN N USRS I SN St 'S T (N (N NN NN DU U S I N A I A (N N

[
|

t— |—— — + + 4+ 4+~ +— — }——| —f — — A P e — || - ] e e e e e ] ]

HORIZONTA
CROSS_SECTION

72.000 MAX. ACTUAL
LOUVER WIDTH
UNLIMITED LOUVER OPENING WIDTH

r_

||I.|.|||II|-|.I_||IL.I-|IﬁI»|||

|
I
|
I
i
l
I
|
|
|
|
l
!
i
i
|
1
I
|
72.000 MAX. ACTUAL
LOUVER WIDTH

-

|
T
| —"

(13
/27

an

N~

<+ e L IHDIFH ¥3AN0T TVNLOV "XVAN 000'tv¥ 1L = WN
‘0 0 .

dAl G21°0 ‘drl SZ1'0 T mm

<> IHOIAH ONINIdO d3ANOT =




O
PRODUCT REVISED o
m m HORIZONTAL N
CROSS SECTION } N
6/27 &/27 = N -
i B r = O
g 5 Ik ¥ | = =4k F | =) L g ™)
D:o I : ; 13 e S T/ T I-I o z O
=2 =3 i | 0| + 2 |
— - —
o 8 =4l QM2 O
o o z7 |y 5 s )
& s g pY
? a & 7 o
O
. <t
go| |
% L g O
SE O
5<r NS
LoY T s Z
2 o < 2D Z
: msg 5 k2
= -~
& o mx2 > = = %
b % @ mO| 2D W 1w >
Ty &o9Z 32 > 4
T C cx - =z WA
o oL < L
L) » 3 o - =
o e 9 Te) n
=z o N
= - O
=z w <
& 5 > |
S 2 o a)
S5 < L
x o) awm
g .z F L
2 Zé = [
3 = 8
- RICE
T < S ———————
I - ENGINEERING
- 105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
WWW rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923
D_-f © VERTICAL
ﬁuo-) 2 —={—— 0.156 0.156 —ef=— CROSS SECTION
o O o | . 36.000 MAX. ACTUAL ___|_ 36.000 MAX. ACTUAL __|_  36.000 MAX. ACTUAL __|__ 36.000 MAX. ACTUAL 36.000 MAX. ACTUAL 36.000 MAX. ACTUAL ___|
Qo 0.125 TYP LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH ~ ' LOUVER WIDTH ' LOUVER WIDTH
= 0. A 0.125 TYP,
o TO 0.375 QUTSIDE OF SLEEVE WIDTH 10 0.375
UNLIMITED LOUVER OPENING WIDTH




UNLIMITED LOUVER OPENING WIDTH

HORIZONTAL
CROSS SECTION
— AN -
: T t T T T % * T %
| ; i Bl
L S ]
f il
an
5
n O
N
— O
ol—
|
= |
O L
Ll .
AE-- g
5 & g (=2
2 3 g
o - I
P 2 I
z
£ B |
o <
x .
L >
> 3
o]
- o
o
3
*
*
o w
=5
n O
N
- O
SF
f | o125 7YPP, ~
T0 0.375  VERTICAL
__| 36.000 MAX. ACTUAL |___ | 36.000 MAX. ACTUAL |_ __| 36.000 MAX. ACTUAL |_ CROSS_SECTION
0.125 Tvp, | OUVER WIDTH | 35000 max. actuaL | FOUWVER WIDTH 136 000 max. acTuaL | WOUVER WIDTH |35 000 MAX. ACTUAL
70 0.375 LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH

SEP G 3 201

O
O
N
D N
N N O
D LO
O E O
2 |
0l <lg £
>0l NE 2 N
= 2
A = )
@)
.| T =
sAal | =
2oI 0 S
SE3 S 3
=93 =
Z L
20”’ _ =z
W=z = = &
<
=0l 2 >
@E}&O(ﬂ L
= - D d
@)
QO 5
o =
0o =
12
a)
bon ©
=
=

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice ,
yZ

Registration No: 50923 _ ~

idliz

oy STATE CF

&S -3
L AA e Y P
% oy LOR\J OO

/

Tk &)
SRAN
AN A

/Q PR
2 FONAL §

UOHT R




BUILDING STRUCTURE/DEFTH MAY VARY.

0.125 TYP, TO 0.375 —=

0.25 TYP, TO 0.50 —=

-
o<

SILL DETAIL
LOUVER HEIGHT < 144 IN.

5/22

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT
\—LIMITED TO WOOD FRAME, STEEL STUDS,
STRUCTURAL STEEL AND CONCRETE,/MASONRY
(BY OTHERS).

HEAD_DETAIL BUILDING STRUCTURES INCLUDE BUT NOT
£ o m LOUVER HEIGHT < 144 IN. LIMITED TO WOOD FRAME, STEEL STUDS,
S 2 @ STRUCTURAL STEEL AND CONCRETE/MASONRY
o / (BY OTHERS).
o -
FE \g
Y {11 @ — 6" 0.C. N {
g § E " ) T2/ T8 ﬁ) SPACING 8/CONNECTION
} ‘ S 3 1257 17=10" /
— — =\
1 f A % { \‘
@ —@ I l_____.__:.z:— — ——
|
—876" o.c.
b
j : 18" O.C.
| SPACING
@ : O A
| PRODUCT REVISED
BLADE SUPPORT AND f ;Wm“r"*'bm
| BLADE SUPPORT ANGLE |
w 'g NOT SHOWN FOR : Expiration
g £ &3 CLARITY. SEE PAGE 8
= 3 .4 DETAILS FOR BLADE ]
© & “gu_ SUPPORT OPTIONS. |
G w §° |
> & .8
T 3 gf | 18" 0.C
< | spacing G8
|
PIC, £S |
) ssesg)| 0
|
| (&
|
D |
/ 125 /°17-1.5 |
|
8" 0.C. i /@
/ SPACING 'q 125/ 18
1 4 | : ’\. . 44
I — I
& 12571710 ™ —— =
S : =
I & - T
0 B N
Y —
) 6” 0.C.
S ' \@ SPACING 8,/CONNECTION

HEAD DETAIL
LOUVER HEIGHT < 144 IN.

3 WELD
PERIMETER

© »

!
e
O
N
N

h
e
s

9) § WELD PERIMETER I

o
o
N
> N
o N N -
= L0
= Ll_dl\r)
O B O
2 |
NI Nig )
SR -
S = 0
s
/o ~
S« W= .
Loy = s Z &
=<3 %3 =
FZ ©C ¥ O ZF
A b
@]c/z L =
W <&l A L
m O L g OB
@:mmo>
Gesl ™ =z o -
© L =
|j—1(/)
O b wm
%)
O 3
2
- Lol
E T
'_

Z

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www . rice-inc.com

Florida Firm No: F-01000005061
Cerfificate of Authorization: #9090

Registration No: 50923

SILL DETAIL Y~
LOUVER HEIGHT < 144 IN.

SEP 0 ¥

L. David Rice P
N7




BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT

g HEAD_DETAIL L LIMITED TO WOOD FRAME, STEEL STUDS,
s 8 //;:\\ LOUVER HEIGHT < 96 IN. STRUCTURAL STEEL AND CONCRETE/MASONRY
e o 6/22 (BY OTHERS).
.
FE
Bgg o ‘“ T T / 6/CONNECTION
- S 8
T ‘ T f A28/ 1T =10
— V.4 ~
P i3 - e
& :
Ll‘\
\ N | T
\@ 670.C.
SPACING
18”1 0.C.
@/ N SPACING
BLADE SUPPORT AND
BLADE SUPPORT ANGLE
- NOT SHOWN FOR
Q g 8% CLARITY. SEE PAGE 8
z @ 25 DETAILS FOR BLADE
S 5 & SUPPORT OPTIONS. I
i w >
2 P25
<
{ 18”| 0.C.
@D/ SPACING
y T35/ T=15
6" 0.C. I /@
/ SPACING © /] 128718
J B :2\
¢
™
| @ 99 28/ T=10"
i - s
, _
Plg s e
NB = o
2es ° '_ @ v (36) 6,/CONNECTION
o 2
-l SILL DETAIL
g ¥ [/:;\\ LOUVER HEIGHT < 96 IN. BUILDING STRUCTURE /DEPTH MAY VARY.
w0 9 \\ZEL/ BUILDING STRUCTURES INCLUDE BUT NOT
83 — LIMITED TO WOOD FRAME, STEEL STUDS,
o

STRUCTURAL STEEL AND CONCRETE/MASONRY

(BY OTHERS).

.

1w -
4 WELD INTERIOR
8

; N

43 ’?

oY
e

HEAD DETAIL
LOUVER HEIGHT < 96 IN.

with the Floride

N\

-

-

N

o N
N N O
o L0
5 9 Ly N

O E O
S}

N Nig El
58 L o i o
S T = U
s 5 2 g W
(= (2 (2] Q

i ©
53 N

SInES V]

|

i
XaE =5z Y
>c0 22 =
W~a 9 ¥ Q<
=2 _ © =5

gl Lo >

SFS B Z WO

350

lu_(7')
QO

% 3
L

O

<

| L

= T
=

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

Registration No: 50923

L. David Rice //

awg,,

\\\\\\\0 P;\’ iD R
R LT

WELD

INTERIOR
@ CAP

SILL DETAIL
LOUVER HEIGHT < 96 IN.

%

SEP_ 0 3 opyg



MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

HEAD DETAL
m LOUVER HEIGHT < 144 IN.
72

\z/

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

-

FASTENER EDGE _|
DISTANCE

LOUVER OPENING

0.125 TYP, TO 0.375 ——+»f ta—

ACTUAL LOUVER HEIGHT

K

&

6" 0.C.
SPACING

-

6" 0.C.

BLADE SUPPORT AND
BLADE SUPPORT ANGLE
NOT SHOWN FOR
CLARITY. SEE PAGE 8
DETAILS FOR BLADE
SUPPORT OPTIONS.

18" O.C.
SPACING

@ /@@ 8,/END
1

SPACING

~tn] - 0,125 TYP, TO 0.375

A
EXCESS MATERIAL BEYOND FASTENER
EDGE DISTANCE IS ALLOWED TO BE

,/@ REMOVED (THIS LEG ONLY).

) MULLION ANGLE MOUNT (SHOWN HERE AT SILL)

IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP. DETAIL

<SR
SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY <A
(CMU) (BY OTHERS).
SLL peTAL <

LOUVER HEIGHT < 144 IN.

o

IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

HEAD DI
7

ETAIL
LOUVER HEIGHT < 98 IN.

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

G

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

FASTENER EDGE

"lnsrmce ==

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(cMU) (BY OTHERS).

SILL DETAIL
8 LOUVER HEIGHT < 96 N,

)

i 4
1 S
Q
g | — — — — ——
2 \\ 18" 0.C
g Bl | | sPacinG €2€3 ‘\®
s ) 6" 0.C.
Vi SPACING
@
BLADE SUPPORT AND
BLADE SUPPORT ANGLE
7 NOT SHOWN FOR
CLARITY. SEE PAGE 8
g I DETAILS FOR BLADE
: g SUPPORT OPTIONS.
B
o
> 6968 6,/END
£ A
: S
i
T |

= \
EXCESS MATERIAL BEYOND FASTENER

EDGE DISTANCE IS ALLOWED TO BE
REMOVED (THIS LEG ONLY).

e

<R g

<N ] MULLION ANGLE MOUNT (SHOWN HERE AT SILL)
IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE

<ENRVIY i OF HOLES IN THE MULLION END CAP. DETAIL

IS TYPICAL FOR BOTH HEAD AND SILL

CONDITIONSHWWP%

o
o
N
} N
m QN O
N Lo
= 0 g ™
O E O
[}
Nl Mg z |
Ul NE ™S 2 0o
21—',_ o
2 =N N
= |5 | 2 L
=1 [ %) [%2) Q
:d_:to
a9 Z 3o
%ug DG\/I
Ol ® T
oy W -
E‘/’E %UJU)_J
292 O_sz
WG~5 2 2 < =
@m(_) O
SRR
oz BD—J_J
o = 7
D‘Dm
= 3
=
Z O
O O <
w O < L
| Ll_l_l—_
= T
._
ENGINEERING

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Y ¥

£ n//
4 7,
7/ NF\L
2016 !If””““ﬂ\\\\\

STATE OF ¢
5L ORDN
Sy e
1O A X




TYPICALLY, ONLY ONE BLADE BRACKET TYPE (ITEMS
13 & 43) IS USED ON THE ASSEMBLY. BOTH
STYLES ARE SHOWN HERE TO SHOW DIFFERENCES.

N

<

& i

BLADE_SUPPORT DETAIL
/“oa"\ LOUVER HEGHT < 144 IN.

&

TYPICALLY, ONLY ONE BLADE BRACKET TYPE (ITEMS

13 & 43) IS USED ON THE ASSEMBLY. BOTH
STYLES ARE SHOWN HERE TO SHOW DIFFERENCES.

@)\ {

AN

131

a2

=i

AN

BLADE_SUPPORT DETAIL
/98 LOUWER HEGHT < 36 M.

O
O
N
BRACKET IS ATTACHED L) _ To) N
TO SUPPORT ANGLE IN B-—"1/"0OR BLADE /BRACKET IS LN N -
TYPICAL STYLE AS ATTACHED TO THE L) =~ LO
SHOWN IN DETAIL 9. @x4 BLADE SUPPORT ANGLE é/ OR < 0 L v
o=
@\ G x4 o B &
BLADE/BRACKET IS 0 g |
ATTACHED TO THE A= >
BLADE SUPPORT ANGLE > L Qz 0 Z O
a4
/ - /@ s = 4 | = )
Ll
g S Iz 2 b
BOTTOM LEG ST (72 3 (% O
CUT OFF
OREJ
Qo
Yegs d
; OL ] <
Qa LIQJ [am] N D:
i B =5 w N
zF 2w % -
o 3 Igl || <t ) o
x i (2} O
" x Z
2 iy 58 o O
| G >
= = PRODUCT REVISED -2 © %
NOTE: THE BLADE SUPPORT ANGLE (ITEM 7A) IS NOT SHOWN N THE BOTTOM Acceptmce No (2-0]2).0F - LéJ
THREE DETAILS IN ORDER TO IMPROVE DETAIL CLARITY. THE BLADE SUPPORT E 2. & =
ANGLE IS NOT ATTACHED TO THE BLADE SUPPORT BRACKET (ITEM 13 OR 43) E] N
IN THE BOTTOM THREE DETALS AS THE BRACKET IS ATTACHED TO THE SiLL = DY 0
INSTEAD. BLADE SUPPORT BRACKET ITEM 43 CAN REPLACE BLADE SUPPORT Praduat Costrol
BRACKET 13 (SHOWN) IN ANY OF THE DRAWINGS FOR DETAIL 10. -
'_
Lo
BLADE/BRACKET :)\ =
IS ATTACHED TO IBSM/&DEF{(BESQSK% BRACKET VAL VETL
THE SILL ONLY. CUT SHORT BLADE /BRACKET BRACKET
THE SILL ONLY. S ATIAGHED TO CUT SHORT RI CE
THE SILL ONLY. ] ENGINEERING
NUBS_REMOVED g 105 School Creek Trail
AS NEEDED g @ Luxemburg, W1 54217
OR@ EL OR Phone: 920.845.1042
3 / ] REMOVED Fax:  920.845.1048
r ot & UBS AND/OR 3%‘ @XZ www.rice-inc.com
= LEG REMOVED ;
8 of gé Florida Firm No: F-01000005061
0 opr . . .
QE N % ,(_)E% cuT LCeDrgf\::c?fR?CZf Authorization: #9090
Joréd || &
E Ll
3
[\g
7
WELDS ARE ALLOWED TO BE WELDS ARE ALLOWED TO BE WELDS ARE ALLOWED TO BE
REPLACED BY TYPICAL BLADE REPLACED BY TYPICAL BLADE REPLACED BY TYPICAL BLADE
SUPPORT FASTENERS WHEN SUPPORT FASTENERS WHEN SUPPORT FASTENERS WHEN [

ROOM ALLOWS.

ROOM ALLOWS.

BOTTOM BLADE SUPPORT DETAL
/10 [OUVER HEGHT < 144 IN.

8/22

ROOM ALLOWS.

SEP ( 3




O
O
N
D N
N @\ -
Z% LO)
= L |5 ™
O z O
nl z |
> L ~E O 2 MO
— o
=z = L - a N
@ z |2 | a [
o O T <
/ / = 7] 2] &)
12" 0.C. So
SPACING — % n iy
o
e
o
H % =R %
S 125,/ 1"-8 5 Il = Y = U)
A € & S = £ 4
> ” 2 o O < - <
% 8" O.C. l@?é I & O —
. ) SPACING W <2 o = i
=0 / 5 Lt
%z%é = = famsl on @28 ::"03 O ‘-*>—’ -
— I 3 T T T I 4 =
>35'—'—' 1 = = o = =] @0_3 O Z Wl =
>0 > = 8 | = = | | & | L =
0 0 0 0 0 %
I_ Z ”
2063 6" 0.C. | | N
e SPACING | | | |
& %2 | | | |
e < O | | | | Ly
==y | | | | =
cooH | ! i
2227 | | | | E
EET 00
PO FE 7S | | | | RICE
=k | | | | ENGINEERING
aow g (@] L 1 L ] 105 School Creek Trail
JJE7 o> Luxemburg, W1 54217
22350 Phone: 920.845.1042
/(@ 4.500 . 4.500 : Fax:  920.845.1048
www fice-inc.com
L > Y
' Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923 L,
ACTUAL OVERALL LOUVER WIDTH,
0.156 —g ka—— ACTUAL LOUVER SECTION WIDTH, —— : &
INSIDE OF SLEEVE PRODUCT REVISED
as complying with the Floride
0.125 TYP, TO 0.375 —=| ha—— OUTSIDE OF SLEEVE ‘
lo——————— LOUVER OPENING
SUPPORT DETAIL SUPPORT DETAIL
m JAMB DETAIL m LOUVER HEIGHT < 144 IN. m LOUVER HEIGHT < 96 IN.
9/22 9/22 9/22




SUBSTRATE LIMITED 7O WOOD,
STEEL, CONCRETE AND MASONRY

(CMU) (BY OTHERS).

8" 0.C.
SPACING

ALTERNATE ORIENTATION —
(CAUTION, BOLT CLEARANCE)

pr

) - y.a

ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH

pet—————————| OUVER OPENING

0.125 TYP, TO 0.375 —c

JAMB DETAIL

m LOUVER HEIGHT < 144 IN.

A

2/END, HOLDS SHIM BLOCK

/2

2/END, HOLDS SHIM BLOCK

SUPPORT NOT ATTACHED
AT HEAD AND SILL AS

TO ALLOW [T TO "FLOAT"
DURING BLADE LOADING.

SUPPORT NOT ATTACHED
AT HEAD AND SILL AS

TO ALLOW IT TO "FLOAT”
DURING BLADE LOADING.

@)
N
N N
o)
N N -
f—-
< 00 LI_Q
O E &
2 |
m - ==
EMQEOEQ
2‘-—*_\_'0:(/-)
TN T
Ao E
SR
Lt
MER| U =
EU§> )
V’m:)b_! -
S —
%354@ =
‘2 prd Lot
‘U\UIEDCJ< QO
Geag| O
@q&mm m
az O 2D =
PO <
o 2 -
0 =
L =
e
@)
L O
|
=
i__

SUPPORT DETALL
m LOUVER HEIGHT < 144 IN.

SUPPORT DETAILL
m LOUVER HEIGHT < 96 IN.

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www . rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

TEE R NN

" \1&1 [] ibiﬁi

Y

‘ #3 ;'ﬁ Sorpepetzsd?” 2
4 :)!Gf‘;ﬁt‘ %@\\\\

7
'
A2

\ . W%
'x'f];““,”““\\‘\




“
7 4‘
% Zlls
Z /
Pl e Al
6” 0.C : 4 d ?
SPAC'IN.G‘\ %

g“

<\

1253

Rl

3 ™___EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL LOUVER SECTION WIDTH ————=<t——— ACTUAL LOUVER SECTION WIDTH

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
m LOUVER HEIGHT < 144 IN.

18" 0.C.
SPACING

6" 0.C.
SPACING @

]

<

H i

BT AC T

g.

< UU

12573

B

ACTUAL LOUVER SECTION WIDTH ————=t=——— ACTUAL LOUVER SECTION WIDTH

38 \EXPANS!ON JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
@ LOUVER HEIGHT < 96 IN.

8/25/2010

DATE

OF 27

11
CAD DRAWING N

MES
1 /2

SHEET NO.

ESD—-0655D

DRAWN BY
SCALE

P.O.BOX 410 SCHOFIELD,

WISCONSIN 54476-0410

GIRIEIENIFIECIK

ESD—-635D LOUVER
FLANGE FRAME
SLEEVE MOUNT
MULLION DETAILS

TITLE

RICE

PRODUCT REVISED

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice )
Registration No: 50923 %

Wiy,
aw

SN,

RiY




JYLSH ‘STIvI3d NOTINW <) S

ds¢9—Ads4 Muy ww.%
ON_DNIAYAT 099 qeg3d e 8O

INNOW JTONVY SNONNILNOD NEsee8 88 R

2z 40 Tl ? 2hesil 2l g

43IANO0T dS¢9—AS4 S8 288s T3 g

'ON_L33HS UL 1% e e g 2502

cz/ L 01¥0-9Z+¥S NISNOJSIM O SRR XW E2x S

ERUAN ‘Q13140HIS 01y XOE'0'd S3£8% ©80b

010z/Sz/8|  S3N M 3538

[Sefe] S HOSHINEEED

HLQIM NOLLD3S ¥3ANOT VNLOV

HIQIM ¥3AN0T TIVMIA0 VNIV

‘SHIAIM TIV¥3A0 9NOT NO d3isn 38
AVA GZ'0 OL dn 40 INIOM NOISNYdX3

HIQIM NOLLO3IS ¥3ANO0T TVNLOV

€ /1Seh

[

O

[twif

31vd1Sdans

o O

o O

E‘,

HLAIM NOLLO3IS ¥3ANOT TVNLOV

HLQIM ¥3AN0T TIVYIA0 TVNLOV

‘SHIAIM TIVY3A0 ONO1 NO a3sn 38
AVA GZ°0 OL dN 40 1NIOM NOISNVJX3

L

H
H [~

7

atd

3]

N

"
LTI

r 4

VAN RIEIEIIPY)

= e ¢ —

J1vdLSENs

d04 vOIdAL SI ividd

*dvD aN3 NOMINW 3HL NI S3T0H 40O 3Sn

A8 J3AIIHOV 39 NVD JONVISIA 3903 YINILSY4 WNNININ F3IHM
SILVHLSANS H04 S| (AV3H IV 3¥3H NMOHS) INNOW 103¥Id NOIMINW

m.
g
¥
z
INIOVS m
9900 .9 e
2
L3
I
=z
28
O O O O
3
O JONVISIO
3503 YINALSYS
T T — - - [
INIOVAS
00 .8l gNa/s
‘“18vIoNddvy N3IHM SNOLLIANOD
TUS ANV agv3H HL08 ¥0d4 IVOIdAL SI
WvLAA  dvD aN3I NOITINW 3HL NI SITI0OH 40
3SN A9 Q3A3HOV 39 LONNYD 3JONVISIQ 3943
HIAN3LSVA WNWINIA F¥3IHM SILvYLSEnS ¥04 SI
3.__w 1V 343H Z>>o_._wv INNOW 319NV NOITINA
HIGIM NOLD3S H3ANOT TVNULOV
P
i
9 INIOVIS v
‘00 .9 2k
Le
o
=z
i
O o o o
l
JONVISIO
39403 mmzu._m«m_
INIOVdS
‘0’0 81
"31av011ddV NIHM SNOLLIANOD TS ANV aviH H1049

12/22




‘SH1AIM TIVY3IA0 9NOT NO g3sn 38
AV GZ'0 0l dN 40 INIOr NOISNVdX3

1S¢9—0S3 96>H ‘STIVLI3A NOITINA nNu m \
m I .\\\\
=~ n:Uu . \\\
'ON_ONIAYYE 02 m mmmm . 55 N \w\ \o\\v
77 40 ¢ INNOW FTONY SNONNILNOO UM %M@Mm m.m Q %...\mv\\u
O0Z®xxB9 of m m.n. =
HJ3IANO0T dG¢9—dSH ﬂwmmm.w 57 RWMW
‘ON_L33HS 37LLL E Z 525 € 23502 %w%uu
Sz/L 0T¥0-9/¥¥S NISNOJISIM @) R2ES W Eoxd S
WIS ‘@13140HIS 0Ty XOE8'0'd ~ 23£2% T3p0 s
oloz/sz/8] SN 258 N
ALva AE_NAYAT M\\ @.@E%MWN @@ R 2058 o
N R
HLAIM ¥3AN0T TIVHIAC TWNLOVY "
HLOM NOLLD3S M3IAN0T TWNLOVY + HIOIM NOLLD3S ¥3IAN0T VROV o
&
o

[

PRODUCT REVISED

MULLION DETAIL
LOUVER HEIGHT < 96 IN.

178

TS ANV dvaH H108 04 TvOIdAL St TIvl3a
‘dv¥O AON3 NOITINA_3HL NI S370H 40 3Sn Ad
J3A3IHOV 38 NVD 3JONVISIQ 3903 dINILISVS
WNWINIA 3Y3HM SALvHISENS ¥04 SI (avaH
1v 3¥3H NMOHS) INNOW 103¥id NOITINW

JONV1SIO
3903 YIANALSVA
B
/ "l e @
ONIOVdS
0% L 035" €9
ME.(N_K_.mmDm Qzu\m
‘318voNddY NIHM SNOILANOD
TS ANV QvaH H1o8 ¥04 TvOIdAL SI
g VI3A  "dvD aN3 NOITINW JHL NI SIT10H 40
3Sn A8 Q3IAIHOV 38 IONNVD 3IONVISIO 3903
.@ YINILSY4 WNAININ FYIHM SILVELISANS HO4 Sl
(7S Lv 3¥3IH NMOHS) INNOW FTONV NOITINW
HLIQIM Y¥3ANOT TIVHIA0 TVNLOV
HIQIM NOLLD3S ¥3ANO0T TvNLOV 4 HIQIM NOLLD3S ¥3AN0T TWNLOV
‘SH1dIM TIVH3A0 9NOT NO g3sn 34 \@
AV GZ'0 01 dNn 40 1INIOM NOISNYdX3
" 8
Dﬁﬁ /@
WA
Z
2
L<_
zE
@ &8
z
[+]
i
@Iw A \J; ONIOVdS =
\@ 00 .9 oh
i L °|=
» \
O O O O ; O O O O
.
o o o ‘o O O o
JONVISIO
3903 YIAN3LSVS
\ 7
A1vH1S9NSs 9NIOVAS
@ S @ ‘0’0 .81 “IJ7aVONddY NIHM SNOILIANOD




—{}-—0.125 TYP, TO 0373

LOUVER OPENING

0.125 TYP, TO 0378 «wei fomr
0.25 TP, T0 0.50 —} | f—

(@)
<
Y LONER  MEGHT £ 144 N, MEAD CETAL 8
= U200 SRS/ M O e N N
UMITED TO WOOD FRAME, STEEL STUDS, T} N\
§ //_ STRUCTURAL STEEL AND CONCRETE/MASONRY N Q
: (BY OTHERS). =AY L
: < 00 L
g g - SUBSTRATE LIMITED TO WOOD, .M
e 8 \ STEEL, CONCRETE AND O g
‘ L3 - 1 MASONRY (CMU) (BY OTHERS). z O
T 6" 0.C Tl ‘ ‘ wn . % l
SPACING ] @95 63rRE) e chj A g <>£ N
g 12* o.c. 6 OC. =] A
E SPACING ~ SPACING = = e I: & N
5 ! \ = —
: s 5 |t g
3 = 2 v O
—
of 19zZ
h
% [ a O
b o = 2]
@) AN = _
eS| < W, <
< NS W &
S«
% =< W J w
i s
FZl x 2 Z
5 W~ o v <
Wxs = =, =
7] R0l 2 T VY »
5 S¢S w3
: 2 o= O X
; e f = >
§ §§ é : 22 Z g
b Sy o
By | DL E <
s gt & M3 =~ W
THoT
O
q az°
P D
20 D
/ —
i e
| ENGINEERING
“““‘!"i 105 School Creek Trail
6" 0.C. (57 Luxemburg, Wi 54217
SPACING &®°R Phone: 920.845.1042
L~ > 0o & 0C. Fax:  920.845.1048
@ SPACING SPACING www fice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
a L. David Rice
3 Registration No: 50923 4
g
Iz < g
o LGS D g /
— s —_— ] ‘
g E '
s ° BUILDING STRUCTURE/DEFTH MAY VARY. SUBSTRATE LIMITED TO WOOD,
Eﬂ%Gmm&?ﬁsugﬂ%BgugsﬂT STEEL, CONCRETE AND MASONRY
/’g“mm:g,m T T, RY (CMU) (BY OTHERS).
CBANER HEGHT < 144 M. 2 DOER MEGHT < 144 K. $vi ' - / :; Y =
_ / ész;{)pfﬁiﬁ ’\\\\‘
. / /,,'.A_‘,, 3€ I 3 AT
SEP 0 3 201 "y AR T
FEFERER RN




MANUAL QUADRANT ACTUATOR AS SHOWN

NOTE: DAMPER MAY BE OPERATED BY
MANUAL QUADRANT, AN ELECTRIC OR
PNEUMATIC ACTUATOR.

e . — —— — —— —— — . —— — — —— — — e =]

ACTUATOR DETAIL
LOUVER HEIGHT < 144 IN.

15/22

(2
NG

(]
N
N N
(@]
"y N %
'-—
O B 3
ol s o
Z S% — 3; A
=y BV
s B gBgY
[=] (%] %] [&8)
oo
= o
Cf =
Llfl\D o <C
Wnzr -
ol L
NZR =
oo = <
W53 5
0 = 2 =2
G2 ag| O -
CHEEIN S
o3 |
O _
@) <C
2
<
=
L
-
=
I.-—

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Cerificate of Authorization: #9090
L. David Rice

Registration No: 50923

SEP 0 3 201

2%

s




12° 0.C.
SPACING

LIMITED TO WOOD FRAME, STEEL STUDS,
STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT

0.156 —

0.125 TYP, TO 0.375 —o=

o
3
-
2
o
 te—————TO INSIDE OF SLEEVE —————
o ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH
ret————— TO OUTSIDE OF SLEEVE ——

Pag—————— LOUVER OPENING

JAMB_DETAIL
25 \ LOUER HEIGHT < 144 M.

G

18" 0.C.
SPACING

vCD-40

7

SSOAOOONNNANN

®p o olo

NS NN NN

| ‘. @
it}
N\

ESD-635D

6" 0.C.
SPACING

\W’_

=T

\_EXPANS!ON JOINT OF UP TO 0.25 MA
BE USED ON LONG OVERALL WIDTHS.

~——— ACTUAL LOUVER SECTION WIDTH ———tmet——— ACTUAL LOUVER SECTION WIDTH ———

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
24A LOUVER HEIGHT < 144 IN.

G

VCD—~40

ESD-635D

18" 0.C.
SPACING

ae

8" 0.C.
SPACING

P —

L

\EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

e ACTUAL LOUVER SECTION WIDTH ———o-t——— ACTUAL LOUVER SECTION WIDTH———

248

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
LOUVER HEIGHT < 98 IN.

\C

o
&
~ N
g
N N -
|.——
<0 Lo Q
O g
Z O
2 |
U) - —
;UJQELOEQ
=~ ¥V |
27N 5 = )
z |5 K 2 bl
(= 172 (%) [ 8]
O
<t w
¥55al =
oYl O <C
Oyl 9 0
5§\L|_II—
=7H =25z
= O
v W= 4
I x2| = =
@EQDLLILLJD
o2 O O > =
S5 2 =z @
Su o
M 1 =
n b L
M
O m
A 2
M -
E L
I_

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923




6" 0.C.
SPACING

2

12" 0.C.
SPACING 49

VT

—

< ==
ALTERNATE ORIENTATION —
(CAUTION, BOLT CLEARANCE)

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY

(CMU) (BY OTHERS). E

20

0.125 TYP, TO 0,375 —o~ L—

ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH
tet———————— LOUVER OPENING

JAMB_DETAIL
m LOWER HEGHT < 144 IN.

G

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C.
SPACING

it

MAX. 3.500

ANNONANNANNNN

8" 0.C. @/
SPACING

|
\

SN NNANNNN

a i

&

~—————— ACTUAL LOUVER SECTION WIDTH

ACTUAL OVERALL LOUVER WIDTH

EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL LOUVER SECTION WIDTH

MULLION DETAL
@ LOUVER HEIGHT < 144 IN.
=/

MULLION END CAP NOT SHOWN FOR CLARITY

18" O.C.
SPACING

@

@\

8" 0.C.
SPACING

ot

———— ACTUAL LOUVER SECTION WIDTH

@J EXPANSION JOINT OF UP TO 0.25 MAY

BE USED ON LONG OVERALL WIDTHS.

ACTUAL OVERALL LOUVER WIDTH

ACTUAL LOUVER SECTION WIDTH

MULLION OETALL
268 \ LOUVER HEIGHT < 88 IN.

\&

PRODUCT REVISED
a3 cosaplying with the Floride

8/25/2010

DATE

17 OF 22

MES
1 /3
CAD DRAWING NO

SHEET N[

ESD—-635D

DRAWN BY
SCALE

P.0.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

GIRIEENIFIECK

ESD—635D LOUVER W/VCD—40
CONTINUOUS ANGLE MOUNT
JAMB AND MULLION DETAILS

TITLE

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, W1 54217
Phone: 920.845.1042
Fox: 920.845.1048
www . rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923  /

Wby,
WD

>,




-
o
NOTES: 8 ~
AVAILABLE SHAPES 0 ~N A
1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE 2 Lo
SIMILAR TO THOSE SHOWN AND HAVE CORNER = Sk ™
CONSTRUCTION AS DESCRIBED ON ALL SHEETS. ; ©
% : z
2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO =0l B X E o
THE SAME PANEL WIDTH AND PRESSURE AS THE =L BT B O
RECTANGULAR LOUVER PANELS AND MAY BE STACKED S Bl pUW
VERTICALLY AND HORIZONTALLY THE SAME AS THE 7 = 2
RECTANGULAR PANELS. 7
3. WHEN SECTIONS EXCEED 36" IN LENGTH BLADE T
SUPPORT ANGLE AND BRACKETS ARE REQUIRED. é SLI . ¥ o
@Ig L Ql Lo
Loi = o
N oD = <
=2z| © %
W2 S
DS 0 ™~ Lol
&z9 9= 3
| < =
T
Zé . e
— — =
s

TN 0= RICE

Registration No: 50923

................
0
2’

ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
i g

B uer
T feirassazert

FRraeonngily
EEAE FR




*EMBEDMENT DEPTH S EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS. IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED BY THICKNESS OF SHIMS. F_D
ITEM DESCRIPTION MATERIAL NOTES ITEM | CONCRETE | CMU [STEEL] wOOB] MIN. | FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS O
1 LOUVER HEAD 6063-T5 ALUMINUM S0 | JAMB PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER| # R@D. |CENTERS| EDGE [EMBED.* ~
2 LOUVER BLADE 6063-T5 ALUMINUM 40625’ MAX. SPACING S0A X 2KSI *POVERS WEDGE BOLT’ 3/8 | VARIES| 600 | 1215 | 3.500 S N
3 LOUVER SILL 6063-T5 ALUMINUM S0B X 4KST *POWERS WEDGE BOLT’ 3/8 | VARIES| 6.00 | 1215 | 3.500 Te} N s
4 LOUVER JAMB 6063-T5 ALUMINUM 50C X 2KSI SCOTS TAPCON / TAPCON 1/4 | VARIES| 475 | 1500 | 1750 o N
5 LOUVER/DAMPER FLANGE 6063-T5 ALUMINUM S0D X 4KSI SCOTS TAPCON / TAPCON 1/4 | VARIES| 600 | 1500 | 1750 "<E\ L @)
6 FORMED SLEEVE 5052-H32 ALUMINUM 1/8° FORMED SLEEVE - DEPTH VARIES | | S0E 1.5KSI SCOTS TAPCON / TAPCON 1/4 |VARIES| 300 | 1500 | 1750 = 0 . N
7A 11/2 X 1 1/2 X 1/4 ANGLE 6063-T5 ALUMINUM BLADE SUPPORT ANGLE SOF X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |VARIES| 6.00 | 0500 [ 0125 O B O
7B 1 1/2 X 1 1/2 X 1/4 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMB OF SLEEVE 50G X | SG 0.42 LAG 3/8 | VARIES | 600 | 1500 | 2.375 o
8 1 1/2 X 6 X 1/8 ANGLE 6063-T5 ALUMINUM JAMB ANGLE S1 | MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.* N ) Z |
] 11/2 X 1 1/2 X 1/8 ANGLE 6063-TS ALUMINUM USED AT HEAD/SILL/JAMBS OF LOUVER]| [ S1A X 2KSI *POWERS WEDGE BOLT’ 3/8 | 8/END | 150 | 175 | 3.500 > L] = o 5 e
10 11/2 X 1 1/2 X 1/8 ANGLE 6063-TS ALUMINUM USED AT HEAD & SILL OF SLEEVE S1B X 4KSI *POWERS WEDGE BOLT’ 3/8 | 8/END | 150 | 175 | 3.500 A= — g
1 3 X 6 X 5/16 STEEL TUBE A36 STEEL SHIP LOOSE S1C X 2KSI SCOTS TAPCON / TAPCON 1/4 9/END | 2.0 150 | 1625 z5 | |5 a U
12 4 X 6 X 1/4 ALUM, SHIMS S052-H32 ALUMINUM USED AT SILL FOR SUPPORT ANGLE S1D X 4KSI SCOTS TAPCON / TAPCON 174 8/END | 2.00 150 | 1625 2 2 |w a
13 BLADE BRACKET 6063-T5 ALUMINUM 4.5’ LONG 51E X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 8/END | 1.00 050 | 0125 ® |9 T S
14 DAMPER HEAD/SILL 6063-T5 ALUMINUM SIF X | SG 0.42 LAG 3/8 | 7/END | 150 | 175 | 2375 |GROUP
15 DAMPER JAMB 6063-T5 ALUMINUM 52 | MULLION ANGLE MOUNT FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.*|CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 3,75 MAX. SPACING 52A X 2KSI *POWERS WEDGE BOLT’ 3/8 |12/ANG.| 3375 | 2250 3.500 | 3.766 —
17 DAMPER BLADE SEAL SILICONE/RUBBER TYPE MATERIAL VARIES 52B X 4KSI *POWERS WEDGE BOLT’ 3/8 | 9/ANG. | 3375 | 2250 3500 | 3766 So Z
18 DAMPER JAMB SEAL SS 52C X 2KSI SCOTS TAPCON / TAPCION 1/4 |32/ANG.| 2000 | 1.500 | 1750 | 3375 % 3 S5 I
19 | DAMPER TOP/BOTTOM CLOSURE ALUMINUM 52D X 4KSI SCOTS TAPCON / TAPCON 1/4 |27/ANG.| 2.000 | 1500 | 1750 | 3.375 S ) o =
20A DAMPER LINKAGE BAR GALV., STEEL S2E 15KSI SCOTS TAPCON / TAPCON 1/4 |32/ANG.| 2000 | 1500 | 1750 | 3.375 @ L < = e
20B DAMPER LINKAGE BAR SS 52F X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| 1000 [ 0500 | 0425 | 3,000 @ % NIt Lol
21A DAMPER AXLE BUSHING DELRIN 52G X 65KST Fy|BOLT/NUT OR TAPPING SCREW] 1/4 | 11/ANG.| 1000 | 0500 [ 0188 | 3.000 oY g (- IZE
218 DAMPER AXLE BUSHING BRONZE 52H X &5KST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| 1000 | 0500 | 0188 [ 3766 E Z % = o N =
21C DAMPER AXLE BUSHING SS 521 X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 5/16 |12/ANG.| 1000 [0625| 01425 | 3.000 2 o > 2
22A | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/DELRIN BUSHING 52J X 65KST Fy|BOLT/NUT OR TAPPING SCREW| S/16 |16/ANG.| 1000 [0625 | 0125 | 3766 @ 35 9 O L
22B | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/BRONZE BUSHING 52K X | SG 0.42 LAG 3/8 |16/ANG.| 1500 | 1500 | 2.875 | 3.766 % O D S
22C | NON-DRIVE DAMPER AXLE ASST. | ZC STEEL PIN W/ SS BUSHING SaL X | SG 0.42 LAG 3/8 | 11/ANG. | 1500 | 1500 | 2.875 | 3.000 @ é gl N ~ =
22D | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ DELRIN BUSHING 53 | MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.* @ /M 8 0 = =
22E | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ BRONZE BUSHING 53A X 2KSI *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 150 16 | 3500 @ O5 v Z
22F | NON-DRIVE DAMPER AXLE ASST. SS PIN W/ SS BUSHING S3B X 4KSI “POWERS WEDGE BOLT’ 3/8 | 5/CAP | 150 1.6 | 3500 o= o 0O 0O =
23A | DRIVE SIDE DAMPER AXLE ASST. ZC/GALV, STEEL 53C X 2KSI *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 200 | 175 | 3500 | Z O as
23B | DRIVE SIDE DAMPER AXLE ASST. SS 53D X 4KST *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 200 | 175 | 3.500 A < }
24A 1/4 DIA, E~CLIP ZP 53E X 2KSI SCOTS TAPCON / TAPCON 1/4 6/CAP | 2.0 150 | 1750 % Ll )
24B 1/4 DIA. E-CLIP SS 53F X 4KSI SCOTS TAPCON / TAPCON 1/4 6/CaP | 2.00 150 | 1750 0 >
25 #8 X .75 TPH TYPE AB SMS SS 536G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 3/CAP | 100 050 | 0185 = W
26 #14 X .75 TEK ZP PROOUCT REVISED 53H X | 'sG 042 LAG 3/8 | 5/CAP | 150 | 175 | 2375 | GROUP Lol =
27A 1/4-20 X 125 HH CS ZP P ing with the 54 | MULLION ANGLE MOUNT FASTENER, H<=96 DIAMETER| # RGD. |CENTERS| EDGE |EMBED.*|CENTER L —
278 1/4-20 X L5 HH CS SS 54A X 2KSI *POWERS WEDGE BOLT’ 3/8 | 4/ANG. | 3.375 | 2.25 | 3.500 | 3.766 3 0
27C 1/4-20 X 0.75 HH CS SS S4B X 4KSI *POWERS WEDGE BOLT’ 3/8 | 3/ANG. | 3375 | 2.25 | 3500 | 3.766 =
28A 1/4-20 NUT ZP 54C X 2KSI SCOTS TAPCON / TAPCON 1/4 |11/ANG. | 2000 | 150 | 1750 [ 3.375 =
28B 1/4-20 NUT SS 54D X 4KSI SCOTS TAPCON / TAPCON 1/4 | S/ANG. | 2000 | 150 | 1750 | 3.375
29 REINFORCING STRAP 18-8 SS 54E 1.5KSI SCOTS TAPCON / TAPCION 1/4 | 11/8NG.| 2.000 | 150 | 1750 | 3.375 R I C E
30 1/4-20 X .562 BALL SWIVEL ZP 54F X &5KSI Fy|BOLT/NUT DR TAPPING SCREW| 1/4 | 7/ANG. | 1000 | 050 | 0425 [ 3.766 i
31A | DAMPER BLADE DRIVE LEVER ss 54G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 6/ANG. | 1000 | 050 | 0125 | 3.000 ENGINEERING
31B | DAMPER BLADE DRIVE LEVER GALV. STEEL 54H X | SG 0.42 LAG 3/8 | 5/ANG. | 1500 | 150 | 2.875 | 3.766 105 School Creek Trail
32 DAMPER MANUAL QUAD ASSY. 541 X | SG 042 LAG 3/8 | 4/ANG. | 1500 | 1.50 | 2.875 | 3.000 Luxemburg, W1 54217
33 5/16 DIA, LINKAGE ROD ZP *EMBEDMENT DEPTH IS EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS. Phone: §20.845.1042
34 |#ie-14 X 3/47 TPH SMS 198 S9 188 32 fIT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER T Fax:  920.845.1048
: i 0 VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE
35 #10 X 1 1747 SMS 316 SS 316 SS LOADS {MPOSED BY THE LOUVER(S). www rice-inc.com
36 1/4° DIA, SCREV SS 1 172" LONG 2. THE ESD—635D AND ESD—-635D WITH VCD—40 HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC) AND
37 1/4° DIA, SCREW SS 17 LONG TEST PROTOCOLS TAS—201 (IMPACT), TAS—202 (UNIFORM STATIC PRESSURE), AND TAS—203 (CYCLIC FATIGUE). Florida Firm No: F-01000005061
38A DEAD LOAD SHIMS NOT BY GREENHECK 3. MAXIMUM SINGLE SECTION SIZE IS 72" WIDE X 144" HIGH. Certificate of Authorization: #9090
398 SEALANT_AND BACKER RTID NOT_BY GREENHECK g' gééng% AE)SI;S ExSBSIéEMDBLIJgthEAiYSIBZEE gAcL:JwEl[)MI\T/E%T&ﬁYXP?a%tlomgHA SUITABLE STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS |L. David Rice '
ig 5 1/4 :’ % HxA NIN/;L ANGLE 2%2345 ALUMINUM USED AT JAMB OF LOUVER/SLEEVE 70 SUPPORT ALL | OADS TRANSFERRED FROM THE LOUVER. Registration No: 50923 7 /
1-Té ALUMINUM USED AT JAMB OF LOUVER/SLEEVE 6. CMU SHALL BE ASTM C90, TYPE Il, 2,000 MIN PSlI GROUT-FILLED. ,
A T RN Sk sROET | Seice i T o O e O B o e TP i ‘
42 11/4 X 1 1/4 X 1/8 ANGLE 6063-T5 ALUMINUM MIN SIZE, JAMB ATTACHMENT ANGLE S INE O AL INTEGRIY OF THE SUBSTRATE STRUGTURE. .
43 BLADE SUPPORT, ALTERNATE 6063-TS ALUMINUM ALTERNATE STYLE 8. THE CONTINUOUS ANGLE MOUNT STYLE UTILIZES A CONTINUOUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. [T MAY BE
44 | STEEL MULLION END CAP (SM) STEEL FACTORY WELDED TO MULLION INSTALLED IN CONCRETE, CMU, STEEL, OR WOOD ACCORDING TO THE FASTENER SCHEDULE. GREENHECK DOES NOT DETERMINE THE STRUCTURAL
45 |ALUMINUM MULLION END CAP (SM) 5052-H32 ALUMINUM FACTORY WELDED TO MULLION INTEGRITY OF THE SUBSTRATE STRUCTURE. 3
6 T STEEL WULLIEN END CAP @G> STEEL FACTORY WELDED T MULLION 9. LOUVER ASSEMBLY IS QUALIFIED FOR A MAXIMUM DESIGN LOAD OF +/— 150 PSF. 3
10. LOUVER ASSEMBLY WITH AND WITHOUT VCD-40 DAMPER SHALL ONLY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS =
47 ALUM MULLION END CAP ¢LG) 5052-H32 ALUMINUM FACTORY WELDED TO MULLION DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM AND THE ROOM WILL HOUSE WATER RESISTANT/WATER PROOF EQUIPMENT, =
48 |MULLION MOUNTING ANG. BRACKET| STEEL 36 KSI, OR 6061-T6 MULLION MOUNTING ANGLE, H<144 COMPONENTS, AND/OR SUPPLIES. =
e 1/4" DIA THREAD STUD <SS O PLATED STEEL /2" MIN. LONG 11. INSTALLER TO PROVIDE SEPARATION OF DiSSIMILAR MATERIALS AS REQUIRED. ‘ =
12. THE VCD—40 MAY BE OPERATED BY A MANUAL QUADRANT OR BY AN ELECTRIC OR PNEUMATIC ACTUATOR. THE DAMPER'S ACTUATOR IS NOT  Z

PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.

13. FRAME CONSTRUCTION. HEAD AND SILL ARE SQUARE CUT. JAMBS ARE SQUARE CUT @ HEAD AND MITERED @ SILL. CORNERS ARE SECURED

WITH (2) #10x1—1/4 SMS. BLADES ARE SECURED TO JAMBS WITH (2) #10x1—1/4 SMS AND WELDED © EACH END.
14, STEEL/STAINLESS—STEEL/ALUMINUM PARTS MAY BE MADE OUT OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH.

15. BLADE SUPPORT ANGLE AND BLADE SUPPORT BRACKETS ONLY REQUIRED WHEN ACTUAL LOUVER SECTION WIDTH IS GREATER THASE'ﬁ INOC

HES.




5.731 '

LOUVER HEAD

@

6063—-T5 ALUMINUM

5.730

5.730 ’

LOUVER BLADE
6063—-T5 ALUMINUM

4.655 —— =]

OPTIONAL BLADE
8063-TS5 ALUMINUM

< 0
5 ©
K <
|
- —>| 1.250 |-<—
—>‘ 1.250 |<—
_ i R
Ll? |
o~
)
< =
N o
o
0.125 0.195 o I
o—» g — .
o S 1. 7
5 i f f
Te]
’j 1.741 =
LOUVER/DAMPER FLANGE
6063—T5 ALUMINUM @
‘ ] —
B OPTIONAL JAMB
LOUVER JAMB 6063—~T5 ALUMINUM
8063—-T5 ALUMINUM B 5.000
‘ —=||=~— 0.125 —={ [=— 0.125 NN RN
- - \\
o o o N
! S 3 N
0 o S 0.313 —=N]
A M
| | J ng
—=1 1.500 L —{ 1.500 L K\\\\
E LOUVER SLEEVE FLANGE
@ ATARTER R SUPPORT_ANGLE STEEL TUBE
6063—T5 ALUMINUM 6063—-T5 ALUMINUM A36

SUPPORT/SLEEVE MOUNT ANGLE

1]

6.081

LOUVER SILL
6063—-T5 ALUMINUM

©

I — =— 0.250
3
?

1.500 L '

LOUVER BLADE

6063—T5 ALUMINUM

6.000

4.000

ALUMINUM SUPPORT _SHIM
5052-H32 ALUMINUM

2

N
¢
0
[Co]
F‘RODUCI REVISED
al ¥
-— 0.125
LOUVER JAMB - J
SUPPORT_ANGLE
6063—T5 ALUMINUM §
!4 6.000
. 4580 ———
o
o
©
M)
LOUVER BLADE BRACKET
6063—T5 ALUMINUM
SEP 0 3

8/25/2010

DATE

20 OF 22

MES
1:2
CAD DRAWING NO.

SHEET N

ESD—-0655D

DRAWN BY
SCALE

P.0.BOX 410 SCHOFIELD,
WISCINSIN 54476-0410

ESD—-6355D LOUVER
SLEEVE/CONTINUOUS MOUNT

GIRIEIENIRIEGK

W/ AND W/0 VCD-40
PART PROFILES

ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice //

Registration No: 50923 7

7, l‘;; FLO‘R\Q\
/ /@NAL ?}&\\\\

\\\




0.500

6063-TS ALUMINUM

'<— 2.500 —*>l

DAMPER JAMB DAMPER BLADE

6063—-T5 ALUMINUM

Te}
I~ <»—>f— 1.000 —= = 0.655
o0
S ___” i
Ic—— 4.000 ——ﬁi
%%— 0.081 |H T 0.062 —xl
L) o
- O 8
DAMPER HEAD/SILL < <
6063—T5 ALUMINUM
L —ef f— 0.125

0.125 —ﬁuﬂ
7

DAMPER LINKAGE BAR
MATERIAL VARIES

@)

LOUVER JAMB
SUPPORT ANGLE

6063—-T5 ALUMINUM

'<'— 0.250

0.618
0.376

)

DAMPER _AXLE BUSHING (.445” |G.)

MATERIAL VARIES

LOUVER JAMB
SUPPORT CHANNEL
6061-T6 ALUMINUM

71\-[4___ 5.250 ———————
’<:— 0.125

¥

—e= 1.250

1.250 I<"

LOUVER JAMB
ATTACHMENT ANGLE
6063—T5 ALUMINUM

5.674

n

=

ALTERNATE LOUVER BIADE BRACKET
6063-TS ALUMINUM

‘7’ 7.500 /b'

VARIES

1.061
0.061

L

DAMPER TOP/BOTTOM

fe

BO.479
[«

2.310 —4>‘

—

@r‘ 0.317

DAMPER BIADE SEAL
MATERIAL VARIES

—'>l <+— 0.219

DAMPER JAMB SFEAL
.007" sS

)

CLOSURE
ALUMINUR
) KNURL PIN

=
Lﬁ—— 3.620 ——<>1 @ I< 3.620 ——«>l ;

), T [T »
? \ PIN A \ PIN ?

BUSHING \
RETAINING RING LEVER

NON—DRIVE DAMPER AXLE ASSY.
MATERIAL VARIES

DRIVE-SIDE DAMPER AXLE ASSY.

2

MATERIAL VARIES

MULLION SLEFEVE BRACKET
5052-H32 ALUMINUM

8/25/2010

DATE

OF 22

MES
1:2

SHEET NO,
21

CAD DRAWING NO.

ESD—-655D

DRAWN BY
SCALE

P.0.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

ESD—-635D LOUVER
SLEEVE/CONTINUOUS MOUNT

GIRIEENAIECIK

W/ AND W/O VCD—40
PART PROFILES

ENGINEERING

105 School Creek Trail
Luxemburg, W1 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

Z




LOCATION

5.687

PERIMETER WELD
3776

LIFTING LUG

MULLION
LOCATION

2 /87 5.5

4.000

ALUMINUM MULLION END CAP
FOR SLEEVE MOUNT
5052-H32, 0.25 ALUMINUM

STEEL MULLION END_CAP

M. DESCRIPTION

D
A
A
B
C
D
GROUP CENTER

e

FOR_SLEEVE MOUNT

0.313

N

r

LENGTH

STEEL

20.375/0.50 FOR 1/48 FASTENER IN ALUMINUM/STEEL
20.563/0.75 FOR 3/8¢ FASTENER IN ALUMINUM/STEEL
2FASTENER SPACING DISTANCE

2FASTENER CLEARANCE HOLE DIAMETER

2FASTENER SUBSTRATE EDGE DISTANCE

CENTER OF FASTENER HOLE PATTERN

e

QUANTITY VARIES WITH
FASTENER TYPE

ft——— 4.0 MIN ————=

b

ol i o

[ SUBSTRATE EDGE

O

ALUMINUM
MULLION
LOCATION

FIELD DRILLED

I el N

\_ QUANTITY VARIES WITH

FASTENER TYPE

ALUMINUM_ MULLION END CAP

FOR CONTINUOUS ANGLE MOUNT

5052—-H32, 0.25 ALUMINUM

= LENGTH o -
- CENTERED N
DRAIN HOLE FOR PAINT PROCESS N N
r A B \«>' 0 QN =
N
Lol
l—\
A S 00 L 'F,(%
T O O O O O O O E &
B ¢ N 2 |
B U') - C\J —t
. D )
yvO/ Gé/- STEEL O O =Ll NE N g O
MULLION =3 " a )
= QUANTITY VARIES WITH LOCATION T 5 K 2 W
o FASTENER TYPE PERIMETER WELD D a o o
© QUANTITY VARIES WITH SUBSTRATE EDGE
FASTENER TYPE \ . =
FIELD DRILLED \, &I ¢ - ———=> — - 7 73
L : C e h 8 ®)
—+ + =+ ‘ .+ + o+ o+ O] ¥
' : megl & = )
J ‘ ' . EPEE
O
N £ Lo 3 L oY
ll\ I:—B -*>l 2 Sz| O O o
—|>I A % W~ 2 35 o O
STEEL MULLION END CAP LIFTING LUG = U<z > ©
FOR CONTINUOUS ANGLE MOUNT < @58 o = = 0
0.313 STEEL FILLER S 1 Z4 1N T T L0V = 6.0 = Sk 20 B =
7 1/4]7 ToW=HN CUT LENGTH _{;_ “zx S5 0N k&
LOUVER LEG | QO =Z o
< LENGTH =] GUSSET % L) o
WELD BREAK ALLOWED z N
Lud
% /—SUBSTRATE EDGE /YAT GUSSET(S) S LA 4 Y 0=
— o |u 174 % FILLER L
\ © é Ll wn
B RRIRRHIR R RIAR AR II IR IR AR RNR % _J
o GUSSET SUPPORT 3 -
o N EXTRUDED ANGLE OR (IF REQUIRED) || TWO WELD STYLE =
E D S WELDED PLATES 4"x4" TRIANGLE VARIES —=| | OPTIONS
L ONE AT CENTER +27 = R_ICE
OR ONE NEAR EACH END| W LOUVER LEG
. g > ‘ ENGINEERING
= Q i G& a R‘GUSSH /FILLER 105 School Creek Trall
) ~ Luxemburg, Wi 54217
g © . /) c 2 /4 TN\ TOWL=MN 01T LEGTH Phone: 920.845.1042
/ fu Fax:  920.845.1048
é / +/ \/ B E 1;1{>j: /FILLER www.rice-inc.com
/ 3 .
2 Floricla Firm No: F-01000005061
/ QUANTI;XS\'I{EEER? TMIIH Certificate of Authorization: #9090
& /" B/2 E E — , L. David Rice -
O SIDE VIEWS FILLER MATL. Registration No: 50923 , .7
A SHOWN AT ALUM=4043 OR 5356 it
ll\ / 1/2 SCALE  STEEL=E70XX o /8
—= A B MULLION MOUNTING BRACKET = ==— & E
FOR CONTINUOUS ANGLE MOUNT N
VARIES, SEE B.O.M. & TABLES BELOW 5
MULLION MOUNTING BRACKET TABLE, 1 OF 2 MULLION MOUNTING BRACKET TABLE, 2 OF 2 =k
LOUVER|[SUBSTRATE| LOUVER |GUSSET|MIN CUT] MAT'L | PROCESS LOUVER [SUBSTRATE| LOUVER |GUSSET[MIN CUT| MAT'L | PROCESS = i
HEIGHT | LEG THK.|LEG THK.] THK. |LENGTH| TYPE TYPE HEIGHT |LEG THK.|LEG THK.| THK. [LENGTH] TYPE TYPE -;.;;" fp— *" j
<44 | 21/ 21/2 NA_ | 165 |6061-T6|EXTRUDED <96 21/2 21/2 NA 66 |6061-T6 [EXTRUDED 2/ STATE OF é’f«l«?
<144 | 27/16 | 27/16 NA 24 A36 | ROLLED <96 23/8 23/8 NA_ | 1234 | STEEL | ROLLED o @R\‘O‘fﬁ.«"{g\ N
<144 21/2 21/2 NA 18,5 A36 | ROLLED <96 27/16 27/16 NA 9 STEEL | ROLLED ,«5‘ ;'%, Q
<144 | 25/16 21/4_ [25/16 20 |6061-Te| WELDED <96 25/16 21/4 25716 9 |6061-T6| WELDED S ’»'/,,’Q‘u Lo
< EP 03 2010 Myt
144 23/16 23/16 25/16 20 STEEL | WELDED £96 23/16 23/16 25/16 9 STEEL | WELDED < AR




